Math 61 - Summer 2020 - 06/25/2020
Quiz 1
Name and ID:

Please remember that your work is graded on the quality of your writing and explanation as well as the

validity of the calculations.

(1) (6 points) Are the propositions “(p = ¢) = r” and “p = (¢ = r)” logically equivalent?

Justify your answer using a truth table, whatever your answer might be.
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(2) (7 points) Prove the following proposition if it is true, give a counter-example if it is false Q(*ﬂ) ’ (7{"7_5)
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(3) (7 points) Prove, using induction, that
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